Brodsky vs Strikman
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t-dependence in Brodsky’s theory:
Brodsky: exp(1.13t) slope fixed SLAC data int. exp(2.9t)
Strikman: 1/(1-t/1.1)74 SLAC data int. 1/(1-t/1.1)74



Brodsky vs Strikman
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Cornell data
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In paper: p0=0.90 +/- 0.1 nb/GeVA2 p1=1.13 +/- 0.18 GeVA2
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Cornell data — Theodosious’s thesis

shielding nitlat
2.5 cm watl - lead
collimator energy hodoscope glass
dump calibration sweep hodoscope
magnet magnet magnet
photon \ e
beam $ f
[ eleciron—| 2 e
beom g /
radiator (leod fo
beam dump ,  beam
monitor
rL- 914 cm-———?l——n——+—]52.4 Cm"l
I[COcm
——

Side View

FIG. 1. The experimental Tayout.
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Cornell data — Theodosious’s thesis
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FIG. 5 do/dt at t:tmin for yp ~ ¥p.
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